Solutions to Chapter 6-Chapter Review.notebook January 07, 2016

\S&gﬂi’qy S=>CHAPTERG - CHAPTER TEST

MULTIPLE CHOICE

1. Which pﬂrabola corrcsponds to the greatest value of ¢, the constant coefficient
in the function v = &2 + x + ¢?

L e
POl

=

23

2. Which of these equations represents the parabola shown?

A y=—x(x—5)+1 (Cy=-2+6x—5

2_
B.y=—2—06x+5 D.y=—(x—57"+1 ; >

2 %972 al\e 8
-3
*]

.4- z (..3:‘*}

= G x-r)(x-s)
== (x-1)(x-3)
A= = (X=5x-1x4+5)
=~ (x*Gx+5)
0= —X*+6Xx-5

3. What is the vertex of flx) = —0.5(x + 4)* — 2? {LQE-T'JFC b+ (" 4 )—'2-)

A. (4, —2) B. (-2, —4) C. (2, —4) @) (-4, -2
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5. Which equation is a quadratic equation in standard form?
A —3@+2x—5=0 B.22—5x=15 @(x}=2f+3x—5 (D)éx —6x+5=0

6. Select the one correct statement about the quadratic equations corresponding A 4
to these graphs. ma";

X

DI N R L DY
-7

) qugatl_on {1}

A. Equation I has no solution.

@Equations I and III each have ar least one real solution.

Equation Ii
C. Each equation has at least one real solution. , _‘&Z

D. Equarion I1 has two solutions.
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8. Which of the following are aazsof ¥ — 9x =52 =02 &=\  b=-9 ¢=.5)
A ™ ~ (- NG
Ly Xx*-qQx-52=0 A= ( Q),_s I("\)—L\Q )63)
(%=13)(x+H)=0 2{Y)

x=13=0 or X+1=0 X= A IWaos - 9 Josa
vy — | ’a

\

S = 3 W= L l 9
A x=—4dandx=—13 @x=—4andx=l3 - 0‘——\; \—\
B. x=4andx= —13 D.x=4and x =13 3
10. Which parabola corresponds to the quadratic function y = 2x* + 4x @ = ﬁ. ‘i
Ly y=X2+2x-% 2 9

O=x*+2%x-% . =
O= &+4) (x-2) \> |- “f

X+4y=00or KX-2=C
x=-Y =2,
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12. Use the quadratic formula to determine which of the following are roots of
the equarion 4.4x* + 4.3x — 5 = 0.
Q:‘. 'f—l.l'ﬁ.] h‘:. 4'1,'__5) C.:M ‘j‘

X=-bI\b*>44ac _

2
X = -4.3 TE3) -4 E4)-5)
S
X=-43+ {1849+ 88
€L
= -4,3+\106.49
B
X=-95E10.5
2.9
A=-4.3410.3 or X=-4.5"10.3
T-% 8.5
,=0.68 X=-1.60b
A x=0.68 and x = 1.66 (C)x =068 andx = ~1.66

B. x= —0.68 and x = 1.66 D. x = =0.68 and x = —1.66
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NUMERICAL RESPONSE

13. a) Identify the following information for the parabola shown. 4
x-intercepts: (=5 ,0), (1 ,0) y-intercept: (0, 2.) p
axis of symmetry: x = = | vertex: (=1, 3 %430 ;
b) Whar is the range of the function corresponding ro this parabola? / ::_ \
e

range: {y |y = 3,y ER}

14. Therootsof ¥ + 17x — 38 =0arex= = |9 andx= 2.
Ly X%+ 7x-3%=0Q
(X +19)(x=2)=0
X+19=0 or X—2=0
X=-19 x=2
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15. Therootsof x> — 2x = 323 are x = '5 E| andx==1"] .

January 07, 2016

A M
=Dk -39 = ()

(1) (xa)=0

R0 \ x+\7=0

Ly X2=2x =323 =C
a=l, b=-2,c=-323
X==bI\ b*-4ac
2a o
X= 22+ JE2)24()E323)
20
A=EN 4+ 1999
) ) |
X= O*\ 199¢
0
X=Q* 36
0
xX= D+36 x= D_‘ 36
9 S
X= 3% X = 3
9 2
= |9 X=-1"]
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17. Suppose you were to use the quadratic formula to solve these equations.
What values of @, &, and ¢ would you use in each case?

a) 32— 2x+1=0
a=3 ,b="2.,c= 1
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18. Use the quadratic formula to determine the exact roots of each quadratic

equation.

a) 7:3+3x—2=0+r._ :
- V= __15,—3&_5_

a=7],h=3,C==2,

x=-brJb 4ac
2a
X = —3EJ(@)EH)E2)
2C1)
g = 2% NI +s =)
| 4+

X = *"-_5;_1":_\_12_5_.

|~

b) -4 —2x+3=0

roots; _ X =" pEAIR
a=-4,b=-2,c=3
x=-b *{ b4ac
2a .
X= 2T NE2)=-HeCH(S)
264)
A= 2F |4+4 %
X
X = 2, £\S2
_Jg/r— i
X=2TJ4X13
— (6‘ _____ )
x=2%+2J]13
-8

January 07, 2016
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23. Write the equation in vertex form of the parabola shown.

Y=aQ (x-RK)*+ K To determine ‘o'

u=a (x*+*3)*-2 I =a(-6+3)*-2

“J !_____ CL _3 2_2_)

==L x+3)-2 E=C1CCQ))‘L
J 3

| = Qa-2-
3 =%q
9 4
d. =9

3
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